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- In the following sentences, certain words are inside brackets, choose which is
wrong .
- Ex: (Traditional), ............
oS Uasdl traditional
9SS 33 traditionally.

- Wolwe assassinated = murdered
— oy maintains = keeps

— There were 20 questions on the test, the student managed to answer 11, 3 of
which are wrong:
A) He failed to answer 3 questions
B) he failed to answer 9 questions
C) he failed to answer 12 questions
D) He failed to answer 11 questions

- lgilogleo pasy (SJ COlS icladel (e 889
- Scientists only have the knowledge and skill to make decisions based on research
- Dangerous decisions are made by uniformed politicians
-Scientists are in a position to:
A) know about all of the discoveries in their field
B) take part in all of........
C) take pare in none of........
D) know about none of........




= e are less populated than cities .
- e have less dense populations than cities.
A) megacities
B) metropolitan
C) slums
B)_villages

= e low rainfall, they've been trying to improve the quality of agriculture.
A) Despite of
B) In spite of
C) Because
D) Although

— Woman: Didn't you go to the meeting, either?
Man: No, | had a headache.
A) Neither the man nor the woman attended the meeting.
?) Man attended, woman didn't.
C) Woman attended, man didn't.
D) Both did.

- | studied........ | failed
A) yet
_Bl , yet
C) so
D) ,so

- Ahmad let sama......... the photo
See/ sees/ to see/ saw

— The man is known by the (companies) he keeps.
Organizations/ friends/ views/ books




— The pair of scissors....... in the drawer
Is/ are/ have been/ were

OlalS ileo -
: opponent/ distress/ sacrifice

Jio Zumus Yy o)l HUS du8yS -
May 25, 1946




Gowlsdl dliwl grams -
- Which shows the error message #VALUE ?
A) Dividing by zero
B) Writing the formula name incorrectly

C) Using text values instead of numerical values

— Which is the brain of the computer? Uiped, phone, )
A) Central processing unit oma = perworal aten nehery > ng,l devises

B ey LAY = toesd @ /7 > Wu dhe s wllling Chome, dfiee)
CIALY WlAN = UielesS bocsd 17
Caw = Cownpus, 0@ yetork w2 of Mo (ands
— o Jlsw HAN = Mebogolitom  —7¥ S vhole cky of
ko,
LAN/MAN/PAN/WLAN WAN =7 Wwide hewn ehoork lw}eg\— ype. of
Nehuovh.
— A device used to store the results of processes permanently:
A) Hard Disk

BYRAM <~ demiomany

- "Definition of Backups" is called:
A) Firewall
B) Backups

- MS-Word is considered to be:
A) System software
B) Application software

——

— After the computer has started up, you'll see:

A) Desktop
B) Task bar ot sure

C) Start menu




- Flash memory is
Ans : primary memory

_whatis the " copyright " ?

2Byte=?bite Gujsdl Olosg gw Jue=idl -
9%° 1GB =7KB cuistll Glasg o Jug=ill —

RAM - software - ALU cay=i Jio Ol yei juiS gl —
input - output 83e>3 o juweill input and output devicesy! pe ollgw lgals> -

low b bl eli e )l gBlge bulg) ol —
top domain ¢ domain name

.gov Jroudl B Hlaisdl Gwo -
WORDI Wlale olaiel -
Wikipedia wlg=dl 1 dugusd] degumgo e JUo-
-. Persons who use the software on the computer to perform some task:
(Users :0lg=Jl)

- Set of instructions that tell the computer how to do it :
(software :0lg=Jl)

-.0One of the operations performed by a computer :
(processing data : wlg=Jl)

-TB---->>> KB?
(2730 :wle=l)




-.This memory does not lose information , even when the power is turned off.

s Ohldl

a. ROM

b. Read Only Memory

c.a+b

(a+b :le=xll)

90 Llsxdl G b gyl laisl oo 0 g8l ¥ L) U8 Jaw solo 98 Lle dxlpny Jlgud! lin b
53 Lo gz 9p Wlgadl clin b amy pudi b

-.0One of the computer programming languages :
( python:wle=Jl)

-. Computer programs which allow people to access information on www :
(web browsers : wlg=l)

-. Examples of search engines:

(www.yahoo.com : wlg=l)

-. The username in this email is (test@gmail.com):

(test: wlg=dl)

-. The least data storage is :

(Bit:ols=l))

-. To create anew folder :

: lg=dl)

(Right-click on an empty area

>>>select 'New'

<<< choose 'folder ')

OIS s Do B dumy b3 gl 0 Lilo £ladl Glshs oo Jluy )lie Jgud! 1o Lash



-. What extension would a PowerPoint file have:
(PPTX : Qlg=dl)

-. What extension would a Excel file have :
(XLSX : wla=dl)

-. we use restart computer if :
(The application has not respond: w831 wlg=dl g8gil)
-. #DIV/O! - This error occurs when you attempt to divide a number by zero.

-. #VALUE! - This error appears when you use an incorrect data type or when a

function expects a certain type of data.

-. #REF! - This error indicates that a cell reference is not valid. It might occur if you
delete a cell that another formula refers to.

-. #NAME? - This error occurs when Excel doesn't recognize a formula or function

name.

-#NUM! - This error appears when a numerical calculation is invalid, such as using a
square root on a negative number.

-. #NJA - This error represents "Not Available" and often occurs with lookup functions
when the value is not found.

— What is the character spacing in....
A) Tight
B) Very tight




=0 Ogole) sum @S -
Sl amy dixmo duls sgiswe Linlg U Gy pgsundly Excel JI o LS G gl -
filter ke dliwl -
bucelgd 9)98)b OlodSl dolpo Josiy (a9 o0 -
o= slide © &gl note JI il -
e slide le dadaoll transition Giwlg -
word © dix=e 8,84) before spacing JI yiwls -
word o OladsIl S vae 0Sg -
3)9¢)L insert of new page Josi (09 (o9 -



Significance

Tl

}3.1*7 L~ | Personal digital Assistant | —aiall il el
CU > Control unit —Sadlisa sy
ROM |~ [Read only memory L Sise),all 5,80
RAM_ _~ |Random Access memory Uil S52s1a
o s—all
DOS _— |Disk operating system e Jmill Jlta
e oa il
CEM ik Commercial B
Org |~ |Organization Aalaia
Net _— | Network A e m——— e
Mil o — |Miltary T
— 4 Y AR
g at B T dadll dandll
o gighg ) =
CPU |~ | Center Processingunit | %>—Sd Aol i,
= i
e Ry . -, - - - ‘
Au |~ Anthm_gtic I?glc unit el G hidisa s
USB,_:._i T4 Universal seria’l}zt!us el Ll 4 sull
CO-ROM Ll e e B
CD-R \/~ JBhy sian oyt
Q d—;;m';“
CO-RW /| CD-Rewritable sley S hy sma ym, 1t
<))
DVD - | Digital versatile dist Aawia i Jlea
o= Claladiuy)
MacOS ‘/ Macintosh operating dsa ULy

System







